Hi 

I m sending u the tcs papers of nit dgp, I can’t exactly recall the whole wordlist as test was online .plz consult barron’s gre guide and if possible prepare 750 words from barron’

Qs r v easy only consult barron’s….

These r the words for synonym and antonym

Harbinger-FORERUNNER

Cacophony-CHAOS

Divulge-DEVIATING

Clutch-HOLD

Acronym-

Illustrious-DISTINGUISHED

Prolific-FRUITFUL

Divergent-DEVIATING

Jaded-WEARY,TIRED

Miet

Mitigate-REDUCE

Ambitious-INTERESTED

Aberration-DEVIATION

Transient(an)-permanence

Buxom-STACKED

Foray-ATTACK

Denounent

One student got 7-8 words starting with “A” from high frequency word list.(barron’s guide)

CRITICAL SECTION

I m sending u almost all the critical reasoning  qs. giving just brief idea becoz I can’t recall 

Though I will suggest u to consult all the qs from anna university and all model test papers (edition 12th)becoz they made the database from that edition .though I m giving the aplitudes given here

1>six floor is given .there are 7 or 8 people .each floor contain two apartments.each apart ther would be 2 or persons.

We have to determine the person what floors they are staying

(REFERENCE 12 TH BARRON)

2>5 PERSONS ARE IN ACOMITTEE . 

THERE A,B,C,D,E,F ,G,H.A&C and C&E,D&F &D&G cant go together

From this there are easy questions

# barron’ page 487 sec 6 analytical ability prob 8-12 abt 6ix American city…….

# barron’ page 435 sec 5  analytical ability prob 1-4 abt city a ,b  and c …….

#3>>Toll in a high way is given .The peoples cant remind the data. It ‘s also from Barron Book(12th Barron editioin).

Refer Barron for these problems.There were 3 of those.One of them i've given below:

A project to consolidate the programs of a large university and a small college is set up. 

It is agreed that the representatives work in small committees of 3, with 2 from the large

 university.

No committee should be represented by faculty members of same subject area.

The professors were:

Large University: J(English),K(Maths.),L,(Natural Science)

Small college:  M(Maths.),N(Latin), O,P(Both English)

Questions: 

1. Which of the following represents a properly composed committee?

(KLN,KLM,JKL,JON,JKM)

a>kln

2.Which of the following may serve with P?

(KM,KL,KO,JK,MN)

b>kl

3. Which of the following must be true?

a. if J serves,P must be assigned.

b. if J can't serve,M also can't be assigned

c. if J can't serve,L must serve.

c>

4. If L is not available,which two must be available  ?

MJ,OJ,NJ,NO,PJ  

c> 

-----------------------------------------------------------------------

If you qualify in the aptitude test u sit for the psychometric test:

150 quest in 30 min.The questions r exactly same as usual.

If u really want to qualify in the psycho test  follow ur head,not ur heart. Pretend to be perfect,don't try to be honest!

A large section of students cleared aptitude but failed to clear psycho test.But be careful, there is also an upper cut-off.

-----------------------------------------------------------------------

-----------------------------------------------------------------------

1.series: 5  6  7  8   10   11  14   ?? ans.15

                  15   14   12   11   ??  9 8         ans.10

2.one circular array is given (means the memory allocation takes place like a circular fashion )dimension (9X7) .starting address is 3000.find the address of (2,3).

Some has got the qs. As memory  allocation takes place coloumnwise.u have to find out the  address.

3.Piechart –Bar chart is given .u have to solve the problem.From Barron Book of 12th  edition .

All other arithmatic problem will be same as  Anna paper.Go through with the Anna paper.

        2)Fill in the blanks

---------------------

Observe the dilemma of the fungus,it is a plant but it possessses no chlorophyll. 

While all the other plants put the sun's energy to work for them combining the nutrients

 of ground and air into the body structure,the chlorophylless _____________.

It finds it in those other plants which,having recieved their energy free from sun,

_____________.

In these search for energy the fungus has become the earth's major source of rot and decay.

 Wherever you see mold forming on a piece of bread,or a pile of leaves turning to compost,

_______________. Without fungus action the earth with be piled high with____________. 

In fact,certain plants which contain resins_____________,

specimens of the redwood,for instance, can still be found________________ centuries after

 having been blown down.

     1. that are toxic to fungi       

     2. relinquish it at some point in their cycle either to animals or to fungi

     3. you are watching a fungus eating

     4. resting on the forest floor

     5. the dead plant life of past centuries

     6. fungus must look elsewhere for an energy supply.

(3)Comprehension

----------------

The passage was on stars,explosions forming them and novae,supernovae.

The questions were like 

(1)Give a suitable title to the passage.

(2)The diff between novae ans supernovae is based on:

and so on...               

passage topic

1. gdp and gnp

2. on affirmative people

3. recapitulation of mind

4. fill in the blank of abt energy source

for the sycho…prepare the 15o qs and beware of the upper cut up of abt 130…

best of luck

